
SUPPLIED WITH BOX FOR ASSEMBLY)
SNB-3737 (USE HARDWARE

SUPPLIED WITH BOX FOR ASSEMBLY)
SNB-3733, 3734, 3735, 3736 (USE HARDWARE

SN-3703
(USE ITEMS #8, 9 & 10 FOR ASSEMBLY)

SN-3705, 3706, 3708
(USE ITEMS #8, 9 & 10 FOR ASSEMBLY)

NBA-10152, 10156

SN-3707, 3709
(USE ITEMS #8, 9 & 10 FOR ASSEMBLY) SUPPLIED WITH BOX FOR ASSEMBLY)

(USE ITEM #7 FOR ASSEMBLY)
NBD-10456

NF-6613, 6614
(USE ITEM #7 FOR ASSEMBLY)

PN-1344
(USE ITEMS #4, 5 & 6 FOR ASSEMBLY)

PN-1342, 1343
(USE ITEM #3 FOR ASSEMBLY)

SNB-3730 (USE HARDWARE
SUPPLIED WITH BOX)

SNB-3731, 3732 (USE HARDWARE

NBA-10148
NBB-22245, 22247, 22251, 22253
NBD-10449, 10452

NBB-22258
(USE ITEM #7 FOR ASSEMBLY)

10 4 1037 HEX NUT 1/4-20
9 4 1038 FLAT WASHER 1/4
8 4 1036 SCREW 1/4-20 x 3/8 LG. HEX HD.
7 4 1062 SCREW M5 x 10mm LG. PAN HD.
6 4 1032 HEX NUT M6
5 4 1033 FLAT WASHER M6
4 4 1031 SCREW M6 x 10mm LG. PAN HD.
3 4 1030 SCREW #10-32 x 3/8 LG. PAN HD.
2 2 22260-BC BAND CLAMP
1 1 22261-BK LARGE POLE MOUNT BRACKET

ITEM QTY. PART NO. DESCRIPTION

19.75

3.
49

BUD  INDUSTRIES  INC.  ANY  REPRODUCTION  IN  PART  OR  WHOLE  WITHOUT

A

D

C

B

A
A

B

C

D

CAD GENERATED DRAWING,
DO  NOT  MANUALLY  UPDATE

SCALE 

SIZE

CAD   FILE:

DWG.  NO.

D
SHEET

REV.

DATEAPPROVALS
DRAWN

CHECKED

APPROVED

1         1OF

2

LARGE SIZE BOXES

+/-.005 BETWEEN HOLE CENTERS
+/- .015 FROM SHEARED EDGE

POLE MOUNT BRACKET KIT
                SURFACES

UNLESS OTHERWISE SPECIFIED

MATERIAL

FINISH

AS NOTED
AS NOTED

DO  NOT  SCALE  DRAWING

PARTS   LIST

12345678

8 7 6 5 4 3

+/- .032 FROM A BENT SURFACE
BUD INDUSTRIES INC.

UNIVERSAL

THE  WRITTEN  PERMISSION  OF  BUD  INDUSTRIES  INC.  IS  PROHIBITED. REVISIONS

DWG. NO.

E

F

E

F

BPM-22261

RD 12-16-08

ISSUE
BPM-22261

USED ONQTY.

+/- .062 BETWEEN ASSEMBLED

THE  INFORMATION  CONTAINED  IN  THIS  DRAWING  IS  THE  SOLE  PROPERTY  OF

PER ECN #10546
11-3-09 DAB

2.08

A

BRACKETS:
  MATERIAL - 14 GA. STEEL
  FINISH - ZINC PLATE WITH YELLOW DICHROMATE
                CONVERSION COAT
 
BAND CLAMPS AND ALL HARDWARE:
  MATERIAL - STAINLESS STEEL
 
POLE SIZE MAXIMUM:
 9.5" DIAMETER
 
WEIGHT LIMIT FOR ANY LOADED BOX TO ENSURE
 BAND CLAMP RETENTION:
  100 LBS.
 
BRACKET KIT IS FURNISHED WITH ALL THE
 NECESSARY HARDWARE TO MOUNT THE BUD
 BOX NUMBERS SHOWN IN THE DRAWING.
NOTE THAT SNB SERIES HARDWARE IS INCLUDED
 WITH THAT BOX.
 
ITEMS #3 THRU #10 ARE SUPPLIED IN
 HARDWARE PACKAGE #55588
 


